L.652 p

ELESA & @] % i

FW

- BRA AW ERGEEPAE RS EA A WEF., Mo, kol
FEAMAFREA

- REREE, TXEDNE,

EARER, Tk, FAHUNIKITISO4TE34 T,

AR REPAF)E, REIMXANHEE, ETEHITHR
BEHTHITHRERRRT.

‘_‘i.
L &
-
e
-
-
| %
[ 28
=
L2
.
s,
k-
[

PRI AR

rhahbbaaL o

F
|
) | oo f
YOS 1
1 m—
. ! : .
I (] I
J© )
\na
S d
T | E——
E—— T -
L
R E ER R F B
{45 i = L S H hi 11 d 6g I [N] g
32429 | L.652/40 p-M6x20 40 13x13 30 20 13 M6 20 2500 17
32439 | L.652/55 p-M8x20 Sl 14x14 33 22 14 M8 20 3300 28
32449 | L.652/67 p-M8x25 67 16x16 37 29 16 M8 29 4500 38
32462 | L.652/80 p-M10x30 80 20x20 41 26 20 M10 30 7000 58
32943 | L.652/95 p-M12x30 04 21x21 46 28.5 21 M12 30 8000 68
“‘ELESA" and “GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source : :
when reproducing our drawings. @ elemn““n]




